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B. Com. (Sem. II) (CBCS) Examination

April / May - 2017
Business Mathematics-11
(New Course)
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ENGLISH VERSION

Instruction : All questions are compulsory.

1 (a)
(b)
1 (a
(b)
2 (a)
(b)
2 (a)
(b)

Explain 2 X2 and 3 X 3 Determinants with an
example.
Solve by Cramer's method
2x-3y+z=3,x+y—-2z=-13x-2y+2z=8

OR
Solve by Cramer's method

4 6 2 9
—+—=4, —+—=4
Xy Xy

Write rules for determinant with examples.

Give definition : Row matrix, Transpose of a matrix

Inverse matrix, adjoint matrix.

-1 2 -13 6 : .
If A:{ } and AB:{ ] Find matrix.
0 8§ -40 8
OR
3 2
If A:{ }B:{x y} and AB=BA then
4 1 3 5

find the value of x and y and then obtain 24+ B.
Solve the equation by Inverse matrix method.

Xx+y+z=32x-y—-z=3,x-y+z=9
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Using Mathematical Induction prove that
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Using Mathematical Induction prove that
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OR

Find sum of n terms of
1-4+3-7+5-10

Find sum :
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